FLert58isecy 2o S8R

I R .5 :
/@y -5l il Y s 0 797R Ba EB
MEELTH). x=2Zare p¥ay ~TK TR ED n/\n
T

FEm 3 %FEalhELIor, )CD:) 27713

0
-
)L:'!%mti' D73y —%(1(—;"]: &",\\\‘( Eﬂf@,'&‘c%.

&1 Cex %Z“EI 33 E R0 5148 £ S L

J25not
j (ssx)e dax

'm,.‘m

L
J'zs;x=t‘c I (43= ; 2. 2 )
L4 3 Ax ELS?L: tl_ s

e f(cocx\e ‘d_;sl . J:J L= alt-L[ t]iz I_}(e&_é—n)

b f = —snx €4 Bredx e
T —I =
J(L"Z)= —Il_—e +Ex%el=%
. oy g e )
J(( 3)= F& -2
E
srxy (FAedicanisEfin - (x+4 + 55 .5'-%1* f’:‘(’\'—*z)

y $bu= ‘r“x(ﬁcos’?c—sinx)

fm =0 LT g Jels -0 © 5= Rt -Swr=0 & (s;uxh\z)(zszhx—ﬁ)—U

Agsmx bl BB, G2 & 1%
Enfty3nt {oontl B TaS D)

SRR
~ 7 (s
LS BRE f5i- ge wFs.
g[n o |
01 ~ Sy g x=§mtz By RIS ,Jge



¥ 2o 2585015 2o 44

z 3
2 }(1) = él" 6 {og,l“‘ 3([05)()— ([03)()

2

. 3
)((1) =6- Bé—t-‘ 3#210}1 *i‘t_ - 3((05?L)"]7E i 'i{ll- 2”210_11 "'Uo”l)z}

i

] 2
5(1)«: I ——‘ -6 T\L—é lo‘jx (—' )- 3"7—["_31'1—‘ —36[0.9>(') .('—Z.L‘)

12
2
= i—.(ij)
3 2 . I Vi a2 \
@) f”(x) = 'p—cd"})‘) >0 i) {h)l: X702 Fuz LiftdmF 3
3%, F0=6-6-0-0=0 45 fuiz 6<x< 1Bz H x=larze. X2

Hul kol Sy o 189613 2 £ 51ty 3.

X (o - I --- LIEXy XDolzdnv JC)L) 2 3(\1) PRy E 2
t - =+ , -

il o S T EERY

Son N gl

2 <]
® (39  bx - Clygx - 3Chy1) - Uojx) 24
x 2 bex+dehon)s L (lygn)+ |
AORELR 5. 2hE Lg) iGN

Cl\sx )z ( [VX) C [lﬁ}L)l By 4

————

IA

—_—

[stH- —;—((ejl )z+ 'él([ogl);‘f l 'é(lojx)a [‘jx

b
N'_'Z“ H = . 1 =
T a}-;v?q[asx oThy. Fl

(1531)2 _é__

o< P < |o_59‘~

=

AR sn . 13 2%350FRE) fim Coo2)

a2




¥ 2oz 25805815 2021 $544

3 bl Sxt 49 =B @ | 3a2y= 0l S

Gi=> Gi)t7.9.
Q&Y x =R (med 2)
® &9 x =2 (wmod 2)

b 1 2= L (wed 2)
x.9 b BIZTy 517 R Lo SETR 293
@) = ¢) 273
@x2 - x=20-R
5.2, R AP HELL 19 x1a BHras
Px3 -®x§ ’)_5=3E_kﬂ
9= B-20+ R;'Q
R-L 15 R lo @& - Lkes. 30T 90 $30Bs
HE ko, BoRe SBAN-H 95 xy 2 B ¥ens
5.7 ) i) FIR H 3 - LR T LT
) Sx+4y=R. 3x+2y=0 v 732
b<R<n, 0sLsn ..

e @ tRETERR Ladse, kelo BF 93 BEFEA AT,
B ryrHeIs

Wn=2mac . DB Sim b0 0€ Léam E51F R0 1o
%:oa\tf. R=0.2.4..2m o m+ &Y

k=l » 0= 1.3, 5 c.lim-] » h )Y

E=2P‘ ” A=0. 2.4 ....omaym+1d )

2 2 2 I 2 j
BLEXY Bom o BALDEIT (wmel) & "= 2mt+ 2m+ | =—2‘[B£)+V1+ [ = gh*'”—*(é;ﬁ)-

(fi)r\‘?m’\’)'({'- Esom\cg_ M:D.?_,Cf"’-zm’Zﬂ mg?,‘)

k=1 - e L L ImE T maY

Bﬁ;lm’l 75 m =1, 3,_f - 2Im-| o M')
FLEF) Bom o AsbbiEls aaxam =2m* = 2 (B2 2 Loy 2



¥ 2o £545815 20 20 $544

- ®®
®® ®6-®
> ®
W ® “¥h3 1. 43 ® 1= Fha1 5% L30T 260 BiEE X5
1. Ho B 2151253119 @ @@ o FEXFEITWA TSN
Ltb™-T 3Rt w=22 51217
D — B
® —-®—
N SHIfa3 LA T,

® —

praxb <[ = ab
L) 3HB0dEE. W= 0Lh3013. 2AB L IBEC EAR @ LAGALLAT
ht.

() 1E8.2mBAxt T lnark3 G @RI a8k 2618I9 — A2 [nf (t5-£19 2at)

® RS ® _.®
® — % fail e ®
0 % 0\1 =5 Q % Ox (l—a—b)x) = 2&2(1_Q—L)
& |BEz1n B, 260BIZwFht 3~(aB,
® —6® K
®_—> Qx(]—a—b)
® —@®

) |@B 3~ tn 8. 20818 | 1617 3~{nH

® — @ -——>g st ® (ra-b) * (@ Goab) = Gracb)(hb)

GGIGEEOR) P =0+ 26 0-6-b)+ ale a-b) = G-a-b)(-b)
——ﬁ& _/z/oL{-z}’/KJf/{:f/-» D_.E—}/lx{—z__ﬁla—l- +j—_l>7a/+q_l>—_\a+k2
= ab'-al + b*-z ), 4]

W2 th3alg Ei2an 28%  |-P= abs2)-ab™-b*



¥ 2ox S48 5815 20 21 $5HA

) 3EBadtit sk R23 A3 kmik 12 200 81 21 BE T Y23 ¢ 4,1 Wh (21T WIAN
('.' @® 1= @b N ORE f3ts)

2080 #3[£5% 23 252207 (o (Hi)n 290 52T, ohte 3080t
@® 32k kX LhgrEn

() 1E8.2mAt T2 lnBA4LT

® ——%
@H@ ® 43:‘:1;3;;#@ $Ep 47t ®
= ®

2 3
OxQ % (chxb%(\—-k)—l- {;4)
G |81z a8k 261810 - Aadt 1ng (t5-A19 2~t)

D
Q% Qx (l—-a—\;)xQ % l)g
3 3r .3 32 31 2 31t ZBB 2;L; 21)4
6@y py = @ (450-5)404) 4 20 (1-a-b)b = 44b - 340h + 24D - 20p - 24

= 20830 oo 2 Kbt



